SUSPENSION

WWW.DJMSUSPENSION.COM

Rev. # 3-03

PART #SE1124,SE1125,5E1128,SE1128S,SE2599
Chevy Shock Extenders

INSTALLATION INSTRUCTIONS

Please take the time to read these INSTALLATION INSTRUCTIONS
and check the Hardware Parts List to be sure you have all the listed
parts.

These installation instructions are prepared for the professional
installer with the proper equipment, tools and experience in
suspension systems and safety. This vehicle and its components are
extremely heavy and can be dangerous without the proper equipment
and experience.

To activate your warranty please read the warranty card enclosed, fill
out your Product Warranty Card and mail it to DJM Suspension.

Please take a few minutes to fill out your installation helper (back side
of warranty). Accurate measurements BEFORE BEGINNING
INSTALLATION will show any irregularities in your vehicle.

NEVER WORK UNDER TRUCK SUPPORTED BY A JACK ONLY !!!

USE QUALITY JACK STANDS WHICH HAVE A RATING ADEQUATE
FOR YOUR TRUCKS WEIGHT!!!

Hardware Parts List:

SE1125.SE1128,SE1128S
2- Lower Shock Extenders
2- 3/8" x 16 x 1" Bolts

2-1/2" x 13 x 2-3/4” Bolts
4-1/2" x 20 x 1" Bolts

2- 3/8" Nuts 4- 1/2" x 20 Jam Nuts
2- 3/8" Flat Washers 8- 1/2" Flat Washers
2-1/2" x 13 Nuts 4- 1/2" Lock Washers
SE1124

6- 1/2” x 20 x 1" Bolts
6- 1/2" x 20 Jam Nuts
4- 1/2" Lock Washers

2 -Lower Shock Extenders
2-1/2" x 20 x 3-1/4" Bolts
2- 1/2" x 20 Nuts

12- 1/2" Flat Washers

SE2599

1- Shock Extender (Passenger Side Only).
2-1/2" x 20 x 1” Bolts.

2- 1/2 x 20 Nuts.

6- 1/2" Flat Washers.

2- 1/2" Lock Washers.

1- 1/2” x 13 x 2-3/4” Bolts.
1- 1/2 x 13 Nut.

1- 3/8” x 16 x 1" Bolt.

1- 3/8” x 16 Nut.

2- 3/8” Flat Washers.

Check out all the DIJM products on the web www.DJMSuspension.com

SE1125,SE1128,SE1128S

Mount new shock extenders to original lower shock mount. New
shock will install out and down from original mount. The wide end
will be mounted to original mount. Line up shock extender with
original shock holes. Attach with two 1/2" x 1" bolts in original
holes (Nuts on inside!). Using shock extender as a template line
drill a 3/8" hole through original mount and secure with a 3/8" x 1"
bolt, washer and nut. Install new shocks to shock extender with
1/2" x 13 x 2.75" bolts and tighten. Photo below shows SE1128S.

SE1124

Use the same procedure as above except drill a 1/2” hole through
original mount and install 1/2” bolts. Use 1/2” x 20 x 3-1\4” bolts to
install shocks.

SE2599

Install the shock extender to the
right side axle mount. This will
make the shock work at a much |
better angle. Slide bracket over
the factory mount and install the
two 1/2" x 1” bolts from the
outside and tighten. Line drill a
3\8” hole through the factory
mount using the shock extender
as a guide and install 3/8” x 1”
bolt and tighten.

Tech Line (310) 538-1583



